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020124 EYHH XA 10, 1502 11 0 11
O2012d MES0t FYMA AlBAY
85,0002 85 0 85
020128 AlSH 0l SEH &AL (LBHR0H)
2,554,080 2,565 0 2,565
02 Al - SHIEZE3WE3 98,503 0 98,593
O12d SHELSIM SE224Y
1,034,0002 1,034 0 1,034
020124 THAHAHBHE K& A
1,699,0602 1,700 0 1,700
02012 SSHH SAHBI (S ML)
81,7002 82 0 82
O2012d A=Y RSFLX 23
134,0002 134 0 134
020124 =20 N 1,605, 7502 1,696 0 1,696
O20128 s&&2 2 MZ= K&  3,600,000& 3,600 0 3,600
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2H: sgIIsdd
HH: WHRES(sYI=4H)
o BEXE (chel & 9l)

SA - BAEN) - NRAY - LS 0f & o4 o1E o HRE2

020128 22X X el H= (22220

Hl) 1,199,400 1,200 0 1,200
Os#Il 0234 XA 509,000% 509 0 509
0012 ESsM2 ASEH X EAY
4,397,3002 4,398 0 4,398
O012d L2Y SN AY 17,734,390 17,735 0 17,735
020128 RIIZHIE B2 K&  29,405,5508 29,406 0 29,406
020128 SMSLLBE| (AP HE AS442
e 2,283,2002 2,289 0 2,289
020128 WS YIS 61,1008 62 0 62
02012 AL R0 BEINLAR (LEHR00)
1,149,330 1,150 0 1,150
020124 ZII5HRA AILS S 1,046,002 1,046 0 1,046
020128 4-HSAEY 24 H+SSX &
982,000 982 982
020124 FEW X 27,0002 27 27
02012 52 WHE K& 901,000%! 901 901
O012E S4E +EZXNS XY
29,118,000% 29,118 29,118
0201248 4550t HEYSHEE X8
1,524,000 1,524 1,524

_24_




